

This is a repository copy of *K-Exponential Stability of Non-Linear Delay Systems*.

White Rose Research Online URL for this paper: http://eprints.whiterose.ac.uk/78284/

Monograph:

Zhang, Yi and Banks, S.P. (1990) K-Exponential Stability of Non-Linear Delay Systems. Research Report. Acse Report 391. Dept of Automatic Control and System Engineering. University of Sheffield

Reuse

Unless indicated otherwise, fulltext items are protected by copyright with all rights reserved. The copyright exception in section 29 of the Copyright, Designs and Patents Act 1988 allows the making of a single copy solely for the purpose of non-commercial research or private study within the limits of fair dealing. The publisher or other rights-holder may allow further reproduction and re-use of this version - refer to the White Rose Research Online record for this item. Where records identify the publisher as the copyright holder, users can verify any specific terms of use on the publisher's website.

Takedown

If you consider content in White Rose Research Online to be in breach of UK law, please notify us by emailing eprints@whiterose.ac.uk including the URL of the record and the reason for the withdrawal request.





K-Exponential Stability of Nonlinear Delay Systems

by

Zhang Yi † and S.P.Banks †*

† Department of Mathematics
University of Electronic Science and Technology of China

Chengdu, P.R.CHINA

†* Department of Control Engineering

University of Sheffield

Mappin Street

Sheffield S1 3JD, U.K

Research Report No.391

March 1990

Abstract

In this paper we introduce a new concept of k-exponential stability. The k-exponential stability of nonlinear delay systems is investigated via the nonlinear variation of parameters formula and nonlinear inequality analysis.

Keywords: K-Exponential Stability, Nonlinear Systems, Delay.

Classification Numbers: 34K, 93D.

1

1 Introduction

The stability of delay systems has been investigated by many authors. In the past years, the Liapunov approach has been developed to study delay systems (see, Hale[5] 1977, Kolmanovskii and Nosov[6] 1986 and Gopalsamy[4] 1984). However, finding Liapunov functions or Liapunov functionals is not particularly easy, and so other methods need to be developed. Lakshmikantham and Leela[7] 1966, Driver[3] 1977, Zhang Yi[8] 1988, introduced inequalities to study delay systems, many practical stability results have been obtained.

In this paper, we shall introduce a new concept of k-exponential stability. Using the nonlinear variation of parameters formula and nonlinear inequalities, we shall investigate the k-exponential stability of nonlinear delay systems. This paper will be organized as follows. In section 2, we shall give the nonlinear variation of parameters formula. In section 3, some nonlinear inequalities will be established. Combing the nonlinear variation of parameters formula and nonlinear inequalities in section 4 we shall drive k-exponential stability criteria for nonlinear delay systems. Examples will be given in section 5 to illustrate our theory.

2 Variation of Parameters Formula

Consider the systems

$$\dot{x}(t) = f(t, x(t)) + g(t, x(t))$$
 (1)

and

$$\dot{y}(t) = f(t, y(t)) \tag{2}$$

Let $x(t, t_0, x_0), y(t, t_0, x_0)$ denote the solutions of (1) and (2) through (t_0, x_0) , respectively. Then, the relation between $x(t, t_0, x_0)$ and $y(t, t_0, x_0)$ is known as the nonlinear variation of paperameters formula (Alekseev[1] 1961, Brauer[2] 1966) and can be expressed in the form

$$x(t,t_0,x_0) = y(t,t_0,x_0) + \int_{t_0}^t \Phi[t,s,x(s,t_0,x_0)] \cdot g[t,x(s,t_0,x_0)] ds$$

where

$$\Phi(t, s, x) = \frac{\partial}{\partial x} y(t, s, x)$$

is the fundamental solution of the variational system

$$\dot{Z} = \frac{\partial f(t, y(t, s, x))}{\partial y} Z.$$

From Brauer 1966, we can get the result

Lemma 2.1. Let $x_0, y_0 \in \mathbb{R}^n$ and denote by θ the straight line between x_0 and y_0 , i.e.

$$\theta(\lambda) = x_0 + \lambda(y_0 - x_0)$$

for $0 \le \lambda \le 1$. Then the system (2) has solutions through x_0, y_0 , which satisfy

$$\parallel y(t,t_{0},x_{0})-y(t,t_{0},y_{0})\parallel \leq \max_{0\leq \lambda\leq 1}\parallel \Phi(t,t_{0},\theta(\lambda))\parallel \cdot \parallel x_{0}-y_{0}\parallel.$$

3 Inequality Analysis

In this section, we shall establish some nonlinear inequalities which will be used in the stability analysis of nonlinear delay systems.

Theorem 3.1. Let S(t) be a nonnegative continuous function defined on $[t_0 - \tau, +\infty)$, which satisfies

$$\dot{S}(t) \le r(t) \left(-S(t) + \sum_{j=1}^{m} \delta_j S_t^j \right)$$

for $t \geq t_0$, where r(t) is a nonnegative continuous function, $\tau > 0$, $b_j \geq 0$ are constants and $S_t \triangleq \sup_{t-\tau \leq \theta \leq t} [S(\theta)]$. If there exist constants r > 0, k > 0 such that

$$r(t) \ge r > 0$$

$$\sum_{j=1}^{m} \delta_j k^{j-1} < 1$$

then, $S_{t_0} < k$ implies that

$$S(t) \le S_{t_0} e^{-\lambda(t-t_0)}$$

for $t \geq t_0$, where $\lambda > 0$ is a constant.

Proof: Since r > 0, $\sum_{j=1}^{m} \delta_{j} k^{j-1} < 1$, it follows for sufficiently small $\lambda > 0$ that

$$-1 + \frac{\lambda}{h} + \sum_{j=1}^{m} \delta_j k^{j-1} e^{\lambda \tau j} < 0 \tag{3}$$

Define

$$Q(t) = S(t)e^{\lambda(t-t_0)}, \qquad t \ge t_0 - \tau$$

Then, we have

$$\dot{Q}(t) \leq \lambda Q(t) + r(t) \left(-Q(t) + e^{\lambda(t-t_0)} \sum_{j=1}^{m} \delta_j S_t^j \right)
\leq r(t) \left(-Q(t) + \frac{\lambda}{r} Q(t) + \sum_{j=1}^{m} \delta_j e^{\lambda \tau j} Q_t^j \right)$$
(4)

for $t \geq t_0$, where $Q_t = \sup_{t-\tau \leq \theta \leq t} [Q(\theta)]$.

Let $l \in (1, k/S_{t_0})$ be an arbitrary constant, we shall prove that

$$Q(t) < lS_{t_0} \stackrel{\triangle}{=} M \tag{5}$$

for $t \ge t_0$. In fact, if (5) does not hold, then there must exist a $t_1 > t_0$ such that

$$Q(t_1) = M;$$
 $Q(t) < M,$ $t_0 - \tau \le t < t_1$

This follows from Q(t) < M for $t \in [t_0 - \tau, t_0]$. Hence, $\dot{Q}(t_1) \ge 0$. However, from (4) by (3) ,we have

$$\dot{Q}(t_1) \leq r(t_1) \left(-M + \frac{\lambda}{r} M + \sum_{j=1}^m \delta_j e^{\lambda \tau j} M^j \right)
\leq r(t_1) \left(-1 + \frac{\lambda}{r} + \sum_{j=1}^m \delta_j e^{\lambda \tau j} k^{j-1} \cdot \frac{M^{j-1}}{k^{j-1}} \right) M
\leq r(t_1) \left(-1 + \frac{\lambda}{r} + \sum_{j=1}^m \delta_j e^{\lambda \tau j} \cdot k^{j-1} \right) M
< 0$$

This yields a contradiction. Hence, the inequality (5) holds. Letting $l \longrightarrow 1$, we get

$$Q(t) \leq S_{t_0}$$

for $t \geq t_0$, that is

$$S(t) \le S_{t_0} e^{-\lambda(t-t_0)}$$

for $t \geq t_0$. The proof is complete.

Theorem 3.2. Let $S_i(t)(i=1,2)$ be nonnegative continuous functions

defined on $[t_0 - \tau, +\infty)$, which satisfy

$$\dot{S}_{1}(t) \leq -rS_{1}(t) + \sum_{j=1}^{m} \left(b_{j} S_{1t}^{j} + c_{j} S_{2t}^{j} \right)$$
$$S_{2}(t) \leq \sum_{j=1}^{m} \left(a_{j} S_{1t}^{j} + d_{j} S_{2t}^{j} \right)$$

for $t \geq t_0$, where $\tau > 0$, r > 0, $b_j \geq 0$, $c_j \geq 0$, $a_j \geq 0$, $d_j \geq 0$ are constants and $S_{it} \triangleq \sup_{t-\tau \leq \theta \leq t} [S_i(\theta)]$. If there exist constants $\alpha_1 > 0$, $\alpha_2 > 0$, k > 0 such that

$$\frac{1}{\alpha_1 r} \sum_{j=1}^{m} (b_j \alpha_1^j + c_j \alpha_2^j) k^{j-1} < 1 \tag{6}$$

$$\frac{1}{\alpha_2} \sum_{j=1}^{m} (a_j \alpha_1^j + d_j \alpha_2^j) k^{j-1} < 1 \tag{7}$$

then, $\frac{S_{1t_0}}{\alpha_1} + \frac{S_{2t_0}}{\alpha_2} < k$ implies that

$$S_1(t) + S_2(t) \le (\alpha_1 + \alpha_2) \left(\frac{S_{1t_0}}{\alpha_1} + \frac{S_{2t_0}}{\alpha_2} \right) e^{-\lambda(t-t_0)}$$

for $t \ge t_0$, where $\lambda > 0$ is a constant.

Proof: From (6) and (7), it follows that for sufficiently small $\lambda > 0$, the inequalities

$$-r + \lambda + \frac{1}{\alpha_1} \sum_{j=1}^{m} e^{\lambda \tau j} (b_j \alpha_1^j + c_j \alpha_2^j) k^{j-1} < 0$$
 (8)

and

$$\frac{1}{\alpha_2} \sum_{j=1}^m e^{\lambda \tau j} (b_j \alpha_1^j + c_j \alpha_2^j) k^{j-1} < 1 \tag{9}$$

hold.

Defining

$$Q_i(t) = S_i(t)e^{\lambda(t-t_0)}/\alpha_i, \quad t \ge t_0 - \tau, \quad (i = 1, 2),$$

we have for $t \geq t_0$ that

$$\dot{Q}_1(t) \le -rQ_1(t) + \lambda Q_1(t) + \frac{1}{\alpha_1} \sum_{j=1}^m e^{\lambda \tau j} (b_j \alpha_1^j Q_{1t}^j + c_j \alpha_2^j Q_{2t}^j)$$
 (10)

and

$$Q_2(t) \le \frac{1}{\alpha_2} \sum_{j=1}^m e^{\lambda \tau j} (a_j \alpha_1^j Q_{1t}^j + d_j \alpha_2^j Q_{2t}^j)$$
 (11)

Let $l \in \left(1, \frac{k}{S_{1t_0}/\alpha_1 + S_{2t_0}/\alpha_2}\right)$ be an arbitrary constant; we assert that

$$Q_i(t) < l\left(\frac{S_{1t_0}}{\alpha_1} + \frac{S_{2t_0}}{\alpha_2}\right) \triangleq M \tag{12}$$

for $t \ge t_0$ and i = 1, 2. Suppose (12) does not hold, then there exist a $t_1 > t_0$ and some i such that

$$Q_i(t_1) = M;$$
 $Q_i(t) < M,$ $t_0 - \tau \le t < t_1;$ $Q_i(t) \le M, i \ne i, t_0 - \tau < t < t_1.$

Case 1: i = 1.

Then, we must have $\dot{Q}_1(t_1) \geq 0$. However, frome (10) by (8), we have

$$\dot{Q}_1(t_1) \leq -rM + \lambda M + \frac{1}{\alpha_1} \sum_{j=1}^m e^{\lambda \tau j} (b_j \alpha_1^j + c_j \alpha_2^j) M^j$$

$$\leq \left[-r + \lambda + \frac{1}{\alpha_1} \sum_{j=1}^m e^{\lambda \tau j} (b_j \alpha_1^j + c_j \alpha_2^j) k^{j-1} \right] M$$

$$< 0$$

This is a contradiction.

Case 2: i = 2.

That is $Q_2(t_1) = M$. From (11) by (9), we have

$$Q_2(t_1) \leq \frac{1}{\alpha_2} \sum_{j=1}^m e^{\lambda \tau j} (a_j \alpha_1^j + d_j \alpha_2^j) M^j$$

$$\leq \frac{1}{\alpha_2} \sum_{j=1}^m e^{\lambda \tau j} (a_j \alpha_1^j + d_j \alpha_2^j) k^{j-1} \cdot M$$

$$< M$$

This is also a contradiction.

Hence, our assertion is correct. Let $l \longrightarrow 1$ in (12), then we have

$$Q_i(t) \le \left(\frac{S_{1t_0}}{\alpha_1} + \frac{S_{2t_0}}{\alpha_2}\right)$$

for $t \geq t_0$ and i = 1, 2. Thus,

$$S_1(t) + S_2(t) \le (\alpha_1 + \alpha_2) \left(\frac{S_{1t_0}}{\alpha_1} + \frac{S_{2t_0}}{\alpha_2} \right) e^{-\lambda(t-t_0)}$$

for all $t \ge t_0$ and the proof is complete.

4 Stability Theorems

Consider the nonlinear delay system described as follows

$$\begin{cases} \dot{x}(t) = f(t, x(t)) + g(t, x(t), x(t - \tau)) \\ x(t) = \varphi(t), \quad t_0 - \tau \le t \le t_0 \end{cases}$$
(13)

where $f:I\times R^n\longrightarrow R^n, I=[t_0,+\infty)$, is continuously differentiable in the region $I\times R^n, f(t,0)\equiv 0, \quad g:I\times R^n\times R^n\longrightarrow R^n$ is a continuous function with $g(t,0,0)\equiv 0$ and $\varphi(t)$ is continuous on $[t_0-\tau,t_0]$. The delay $\tau(t)$ is a nonnegative continuous function, which satisfies $0\leq \tau(t)\leq \tau$, where τ is a constant. Define $\|\varphi\|=\sup_{t_0-\tau\leq t\leq t_0}[\|\varphi(t)\|]$.

Definition 4.1. The zero solution of (13) is said to be k-exponentially stable if there exist $\lambda > 0, \pi \ge 1$ such that $\|\varphi\| < k$ implies that

$$\parallel x(t,t_0,\varphi) \parallel \leq \pi \cdot \parallel \varphi \parallel \cdot e^{-\lambda(t-t_0)}$$

for $t \geq t_0$.

Let $\Phi(t, s, x)$ be the solution of

$$\begin{split} \frac{\partial \Phi(t,s,x)}{\partial t} &= \left[\frac{\partial f(t,x)}{\partial x}\right] \Phi(t,s,x) \\ \Phi(t,t,x) &\equiv I \end{split}$$

where I is the identity matrix.

Theorem 4.1. If the system (13) satisfies the conditions

(i). $\parallel \Phi(t,s,x) \parallel \leq he^{-\int_s^t r(\rho)d\rho}$, for all $(t,s,x) \in I \times I \times R^n$, where $h \geq 1, r(t) \geq r > 0, r, h$ are constants.

(ii).

$$\parallel g(t, x(t), x(t - \tau(t))) \parallel \leq \sum_{j=1}^{m} b_j(t) \cdot \left[\sup_{t - \tau \leq \theta \leq t} \parallel x(\theta) \parallel \right]^j$$

where $b_j(t)$ is a nonnegative continuous function.

(iii).

$$\frac{b_j(t)}{r(t)} \le \delta_j, \quad t \ge t_0$$

where δ_j is a constant.

(iv). There exist a constant k > 0 such that

$$h\sum_{j=1}^{m}\delta_{j}\cdot (hk)^{j-1}<1.$$

Then, the zero solution of (13) is k- exponentially stable.

Proof: By the nonlinear variation of parameters formula, we have

$$x(t) = \begin{cases} y(t) + \int_{t_0}^t \Phi(t, s, x(s)) \cdot g(s, x(s), x(s - \tau(s))) ds & t \ge t_0 \\ \varphi(t) & t_0 - \tau \le t \le t_0 \end{cases}$$

By lemma 2.1 and conditions (i) and (ii), it follows that

$$\parallel x(t) \parallel \leq \parallel y(t) \parallel$$

$$+ \int_{t_{0}}^{t} \| \Phi(t, s, x(s)) \| \cdot \| g(s, x(s), x(s - \tau(s))) \| ds$$

$$\leq h \| \varphi \| e^{-\int_{t_{0}}^{t} r(\rho) d\rho}$$

$$+ h \sum_{j=1}^{m} \int_{t_{0}}^{t} e^{-\int_{s}^{t} r(\rho) d\rho} \cdot b_{j}(s) \cdot [\sup_{s - \tau \leq \theta \leq s} \| x(\theta) \|]^{j} ds.$$

Let

$$S(t) = \| \varphi \| e^{-\int_{t_0}^t \tau(\rho) d\rho} + \sum_{j=1}^m \int_{t_0}^t e^{-\int_s^t \tau(\rho) d\rho} \cdot b_j(s) \cdot [\sup_{s-\tau \le \theta \le s} \| x(\theta) \|]^j ds$$

for $t \ge t_0$ and $S(t) = \parallel \varphi \parallel$ for $t_0 - \tau \le t \le t_0$. then, $\parallel x(t) \parallel \le hS(t)$ for $t \ge t_0 - \tau$ and

$$\dot{S}(t) \leq -r(t)S(t) + \sum_{j=1}^{m} b_j(t) \cdot h^j \cdot S_t^j$$

$$\leq r(t) \left(-S(t) + \sum_{j=1}^{m} \delta_j \cdot h^j \cdot S_t^j \right)$$

for $t \geq t_0$. Using theorem 3.1, we get that $S_{t_0} < k$ implies that

$$S(t) \le S_{t_0} \cdot e^{-\lambda(t-t_0)}$$

for $t \geq t_0$, where $\lambda > 0$ is a constant. That is $\parallel \varphi \parallel < k$ implies that

$$\parallel x(t) \parallel \leq h \parallel \varphi \parallel \cdot e^{-\lambda(t-t_0)}$$

for $t \ge t_0$. Hence, the zero solution of (13) is k-exponentially stable. The proof is complete.

Now, consider the nonlinear neutral delay system

$$\begin{cases} \dot{x}(t) = f[t, x(t), x(t - \tau(t)), \dot{x}(t - \tau(t))] \\ x(t) = \varphi(t), \dot{x}(t) = \dot{\varphi}(t), t_0 - \tau \le t \le t_0 \end{cases}$$
(14)

where $f \in C[R \times R^n \times R^n \times R^n, R^n]$, $f(t,0,0,0) \equiv 0, \partial f(t,x,0,0)/\partial x$ and $\partial f(t,x,x,0)/\partial x$ exist and are continuous, $\tau(t)$ is a nonnegative continuous function, $0 \leq \tau(t) \leq \tau$, τ is a constant and $\varphi(t), \dot{\varphi}(t)$ are continuous initial functions.

Definition: The zero solution of (14) is said to be k-exponentially stable if there exist $\lambda > 0, \pi \geq 1$ such that

$$\parallel \varphi \parallel \stackrel{\Delta}{=} \sup_{t_0 - \tau \le t \le t_0} [\parallel \varphi(t) \parallel + \parallel \dot{\varphi}(t) \parallel] < k$$

implies that

$$||x(t)|| + ||\dot{x}(t)|| \le \pi e^{-\lambda(t-t_0)}$$

for $t \geq t_0$.

We shall assume that

where a_j, b_j, c_j are constants.

Suppose that $\Phi_1(t,s,x)$ is the solution of

$$\begin{split} \frac{\partial \Phi_1(t,s,x)}{\partial t} &= \left[\frac{\partial f(t,x,0,0)}{\partial x} \right] \cdot \Phi_1(t,s,x) \\ \Phi_1(t,t,x) &\equiv I \end{split}$$

Theorem 4.2. If the system (14) satisfies the conditions

- (i). $\| \Phi_1(t,s,x) \| \le h_1 e^{-r_1(t-s)}$, for all $(t,s,x) \in I \times I \times R^n$, where $h_1 \ge 1, r_1 > 0$ are constants.
 - (ii). There exist constants $\alpha_1>0, \alpha_2>0, k>0$ such that

$$\frac{1}{\alpha_1 r_1} \sum_{j=1}^{m} \left[b_j \cdot (h_1 \alpha_1)^j + c_j \cdot \alpha_2^j \right] k^{j-1} < 1$$

$$\frac{1}{\alpha_2} \sum_{j=1}^{m} \left[(a_j + b_j) \cdot (h_1 \alpha_1)^j + c_j \cdot \alpha_2^j \right] k^{j-1} < 1$$

Then, the zero solution of (14) is $\frac{\alpha_1\alpha_2k}{\alpha_1+\alpha_2}$ -exponentially stable.

Proof: Rewrite (14) in the form

$$\dot{x}(t) = f[t, x(t), 0, 0]$$

$$+ (f[t, x(t), x(t - \tau(t)), \dot{x}(t - \tau(t))] - f[t, x(t), 0, 0]).$$

By the nonlinear variation of parameters formula, we have

for $t \geq t_0$.

From (14) and (15), we have

$$\|\dot{x}(t)\| \leq \sum_{j=1}^{m} (a_j \|x(t)\|^j + b_j \|x(t-\tau(t))\|^j + c_j \|\dot{x}(t-\tau(t))\|^j).$$

for $t \geq t_0$.

Define

$$S_{1}(t) = e^{-r_{1}(t-t_{0})} \| \varphi \|$$

$$+ \sum_{j=1}^{m} \int_{t_{0}}^{t} \left(b_{j} \| x(s-\tau(s)) \|^{j} + c_{j} \| \dot{x}(s-\tau(s)) \|^{j} \right) e^{-r_{1}(t-s)} ds$$

for $t \geq t_0$, $S_1(t) = \parallel \varphi \parallel$ for $t_0 - \tau \leq t \leq t_0$ and

$$S_2(t) = \begin{cases} \parallel \dot{x}(t) \parallel & t \ge t_0 \\ \parallel \varphi \parallel & t_0 - \tau \le t \le t_0 \end{cases}$$

Then, we have

$$\dot{S}_1(t) \le -r_1 S_1(t) + \sum_{j=1}^m (b_j h_1^j \cdot S_{1t}^j + c_j \cdot S_{2t}^j)$$

$$S_2(t) \le \sum_{j=1}^m [(a_j + b_j) h_1^j \cdot S_{1t}^j + c_j \cdot S_{2t}^j]$$

for $t \geq t_0$.

By the condition (ii), using theorem 3.2, it follows that $(\frac{1}{\alpha_1} + \frac{1}{\alpha_2}) \parallel \varphi \parallel < k$ implies that

$$S_1(t) + S_2(t) \le (\alpha_1 + \alpha_2) \left(\frac{1}{\alpha_1} + \frac{1}{\alpha_2}\right) \parallel \varphi \parallel e^{-\lambda(t-t_0)}$$

for $t \geq t_0$, where $\lambda > 0$ is a constant. That is $\|\varphi\| \leq \frac{\alpha_1 \alpha_2 k}{\alpha_1 + \alpha_2}$ implies that

$$\parallel x(t) \parallel + \parallel \dot{x}(t) \parallel \leq (\alpha_1 + \alpha_2) \left(\frac{1}{\alpha_1} + \frac{1}{\alpha_2} \right) \parallel \varphi \parallel e^{-\lambda(t-t_0)}$$

for $t \geq t_0$. This shows that that zero solution of (14) is $\frac{\alpha_1 \alpha_2 k}{\alpha_1 + \alpha_2}$ -exponentially stable and the proof is complete.

Suppose that $\Phi_2(t,s,x)$ is the solution of

$$\begin{split} \frac{\partial \Phi_2(t,s,x)}{\partial t} &= \left[\frac{\partial f(t,x,x,0)}{\partial x}\right] \Phi_2(t,s,x) \\ \Phi_2(t,t,x) &\equiv I \end{split}$$

where I is the identity matrix.

Theorem 4.3. If the system (14) satisfies the conditions

- (i). $\parallel \Phi_2(t,s,x) \parallel \leq h_2 e^{-r_2(t-s)},$ for all $(t,s,x) \in I \times I \times R^n$, where $h_2 \geq 1, r_2 > 0$ are constants.
 - (ii). There exist constants $\alpha_1 > 0, \alpha_2 > 0, k > 0$ such that

$$\frac{1}{\alpha_1 r_2} \sum_{j=1}^{m} (b_j \tau^j + c_j) \alpha_2^j k^{j-1} < 1$$

$$\frac{1}{\alpha_2} \sum_{j=1}^{m} \left[(a_j + b_j) (h_2 \alpha_1)^j + c_j \alpha_2^j \right] k^{j-1} < 1$$

Then, the zero solution of (14) is $\frac{\alpha_1\alpha_2k}{\alpha_1+\alpha_2}$ -exponentially stable.

Proof: Note that

$$\parallel x(t-\tau(t))-x(t)\parallel \leq \parallel \int_{t-\tau(t)}^{t} \dot{x}(\theta)d\theta \parallel$$

$$\leq \int_{t-\tau}^{t} \| \dot{x}(\theta) \| d\theta$$

$$\leq \tau \cdot \sup_{t-\tau \leq \theta \leq t} \| \dot{x}(\theta) \|$$

then the result follows as in the proof of theorem 4.2.

5 Examples

Example 5.1. Consider the system

$$\dot{x}(t) = -2(1+\sin^2 t)x(t) + (1+\sin^2 t)\cos x(t) \cdot x(t-\tau(t)) \tag{16}$$

where $0 \le \tau(t) \le \tau, \tau$ is a constant.

Taking $m=1, r(t)=-2(1+\sin^2 t), b_1(t)=(1+\sin^2(t)), \delta_1=\frac{1}{2}$ in theorem 4.1, it follows that for every $k\in(0,+\infty)$ the zero solution of (16) is k-exponentially stable.

Example 5.2. Consider the system

$$\dot{x}(t) = -64e^{t}x(t) + e^{t\sin^{2}t} \cdot x(t) \cdot x^{2}(t - \tau(t))$$
(17)

where $0 \le \tau(t) \le \tau, \tau$ is a constant.

Taking $m=3, r(t)=64e^t, b_1(t)=b_2(t)=0, b_3(t)=e^{t\sin^2t}, \delta_1=\delta_2=0, \delta_3=\frac{1}{64}$ in theorem 4.1, we can get that for $k\in(0,8)$ the zero solution of (17) is k-exponentially stable.

Example 5.3. Consider the system

$$\dot{x}(t) = -x(t) + \frac{1}{128}x^4(t - \tau(t)) - \frac{1}{32}\dot{x}^2(t - \tau(t))$$
(18)

where $0 \le \tau(t) \le \tau, \tau$ is a constant.

Taking m = 4, $b_1 = b_2 = b_3 = 0$, $b_4 = \frac{1}{128}$, $c_1 = c_3 = c_4 = 0$, $c_2 = \frac{1}{32}$, $a_1 = 1$, $a_2 = a_3 = a_4 = 0$, $r_1 = 1$, $h_1 = 1$, $a_1 = 1$, $a_2 = 2$ in theorem 4.2, we can get that for $k \in (0, 8/3)$ the zero solution of (18) is k-exponentially stable.

Example 5.4. Consider the system

$$\dot{x}(t) = 2x(t) - 3x(t - \frac{1}{60}) + \frac{1}{1100}x^2(t - \frac{1}{60})$$
(19)

Taking $m = 2, a_1 = 2, a_2 = 0, b_1 = 3, b_2 = 0, c_1 = 0, c_2 = \frac{1}{1100}, \tau = \frac{1}{60}, r_2 = 1, h_2 = 1, \alpha_1 = \frac{1}{4}, \alpha_2 = \frac{5}{2}$ in theorem 4.3. Then it follows that for $k \in (0, 5)$ the zero solution of (19) is k-exponentially stable.

6 Conclusions

In this paper we have studed the k-exponential stability of nonlinear delay systems via the nonlinear variation of parameters formula and nonlinear inequality analysis. By k-exponential stability, we mean that in the 'k region' the solutions decay exponentially to zero. Obviously, this will be a useful

criterion in engineering. The stability theorems for nonlinear neutral delay systems are expressed in the terms of some parameters, the opitmal choice of these parameters needs further investigation.

References

- [1] V.M.Alekseev, An Eatimate for the Perturbations of the Solutions of Ordinary Differential Equations, (Russian), Vestnik Moskov. Univ. Ser. I Mat. Mech., No.2, 28-36, 1961.
- [2] F.Brauer, Perterbations of Nonlinear Systems of Differential Equations J. Math. Anal. Appl., 14, 198-206, 1966.
- [3] R.D.Driver, Ordinary and Delay Differential Equations, Springer-verlag, New York, 1977.
- [4] K.Gopalsamy, Some Delays Do Not Mater, Bull. Austral. Math. Soc., 30, 91-98, 1984.
- [5] J.K.Hale, Theory of Functinal Differential Equations, Springer-Verlag, New york, 1977.



[6] V.B.Kolmanovskii and V.R.Nosov, Stability of Functional Differential Equations, New York: Academic Press, 1986.

A SHARE

- [7] V.Lakshmikantham and S.Leela, Differential and Integral Inequalities, Vol I and II, Academic Prees, New York, 1969.
- [8] Zhang Yi, Stability of Large Scale Neutral Differential Systems, Scientia Sinica, (Series A), vol XXXI, No.11, 1292-1304, 1988.